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Use yesterday’s learning to complete these questions. Can you use a number line to complete them? 
95- 7 =  

56 – 9 = 
Now use your understanding to complete these questions. 
REMEMBER to partition the numbers into hundreds, tens and ones. Consider what changes in each question. 
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Ron and Jack use Base 10 to solve 225 -
8

Ron's method:
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Jack's method: “ )
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Explain which method you would use and
why.
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. Teddy uses Base 10 to calculate 321 — 4 ‘
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Use this method to calculate:
322—4 322-7 435 -7
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. Dora uses the part-whole model and number line to solve 132 — 4
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Use this method to calculate:
132 -8 123-8 123-5




